

(1) [5] Evaluate $\lim_{x \rightarrow \infty} \frac{\cosh(x)}{e^x}$.

$$\begin{aligned}
 & \lim_{x \rightarrow \infty} \frac{\cosh(x)}{e^x} \\
 &= \lim_{x \rightarrow \infty} \frac{e^x + e^{-x}}{2e^x} \\
 &= \lim_{x \rightarrow \infty} \frac{1}{2} + \frac{1}{2e^x} \\
 &= \boxed{\frac{1}{2}}
 \end{aligned}$$

(2) [5] Evaluate $\lim_{t \rightarrow 0} \frac{e^t - 1}{t^5}$.

$$\begin{aligned}
 & \lim_{t \rightarrow 0} \frac{e^t - 1}{t^5} \sim \frac{0}{0} \\
 & \stackrel{H}{=} \lim_{t \rightarrow 0} \frac{e^t}{5t^4} \left. \begin{array}{l} \rightarrow 1 \\ \rightarrow 0^+ \end{array} \right\} \\
 &= \boxed{\infty}
 \end{aligned}$$

(3) [5] Evaluate $\lim_{x \rightarrow 0^+} x^{(x^2)}$. (Hint: $a^x = e^{x \ln(a)}$).

$$x^{(x^2)} = e^{x^2 \ln x}$$

$$\lim_{x \rightarrow 0^+} x^2 \ln x \sim "0 \cdot (-\infty)"$$

$$= \lim_{x \rightarrow 0^+} \frac{\ln x}{x^{-2}} \sim \frac{-\infty}{\infty}$$

$$\stackrel{H}{=} \lim_{x \rightarrow 0^+} \frac{(\frac{1}{x})}{(-2x^{-3})}$$

$$= \lim_{x \rightarrow 0^+} \left(\frac{1}{x} \right) \left(-\frac{x^2}{2} \right)$$

$$= 0$$

$$\therefore \lim_{x \rightarrow 0^+} x^{(x^2)} = \lim_{x \rightarrow 0} e^{x^2 \ln x} = e^0 = \boxed{1}$$